Math 220 Quiz 8 (take-home) Fall 2010
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e You may work with other students in this class. However each student should write up
solutions separately and independently — nobody should copy someone else’s work.

e You may use your notes or the textbook.
e No calculators or computers are allowed on any problem.
e You must show sufficient work to justify each answer.

e The quiz should be turned in to your TA by 4pm Friday, October 15th. You are allowed
to turn it in early when you next see your TA. Although most TA mailboxes are in 250
Altgeld Hall, your TA may inform you about a preferred way to submit your quiz.

e Be sure that the pages are nicely stapled — do not just fold the corners.

e Note to TAs — you should not help students with these specific problems or go over solutions
until after 4pm Friday.




1. (3 points) Find all inflection points on the graph of f(z) = 3z° — 10z* + 10z® — 40z + 50.
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2. (3 points) Determine the z-value at which the function f{zZ)=

attains its absolute
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3. (4 points) Find the points on the graph of the hyperbola 4z* — y? = 1 which are closest to
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the point (3,0).

L-et ( y) ﬁ@ a7 ﬂwi:;%rm/)/ FojpZ— ow FlE

f)’/f’@rﬁz/gz L7 05 dlen trat thre poivt oloseit
o (2,8) j5 or tre V%W byapcls o #his

)4)/}7@/&?’4 Thoas VVc? %99/ Zz Wiy i TN E
;}/fﬁvég AgﬁWiW (<y) amd (2,20
Cor X Jw e jEg -

)7 6’/ Lﬁ/ ab)

D= Ce20%F (5007
2 "\f(xf%)%;» 5>
WX"%) I =) Sire € ?’Xy/y%’/

/’eﬁ”f SA ) /falvﬁ

(e o, e



| .
D///_}}(éx«%)é»fx %/) g; (;Z (2 {”gx) |

o x—6
pl = =
IS (2Tt ™)

Lot g
AEy orpipgtor (s
Positie Ko )] )(f'

T Sy For x

J o207 pr ez

_/ |
%’//\/9; > = Z"/;

Vala s gf P/

T 4t
—F i L2 > >
z
L Ve
v

<= ;/;r F/"Wf’ Lf,xz/>/$7/ e

_ 7z
gives Y = ﬂ%ﬁ; Pt 3o b
&/7§€fﬁ £ [2/‘7) 2y

2 _ -
(%, /%) a2 (29/ ﬂ;}

}77//)7/“}’,774/)?7 ﬂ&fﬁd%&@ Z2 TS W/f =)o i
l
|

Tre distarce [ D = ‘/7?;‘;\;2



To FurPury ppE AGEBRA, oy

CEULP  Lhopsr 2 MItng) 2 THE

PRUppZ  pF  rE FPET o c 2

/)ﬁ”[)(’?fp%f; _[X/ﬁ)%«ké/%%/

so f )= Pl <
/F?()(/ = /Of)C /g

/F/()c/ = vrbers )= ¢%/§

Z
) &
v

1717 iv0p stro= Ai 7227 ce vi)rey >

\x\\\»

/
'3
/




